Problem 3: Write MIPS program to print ¡°*¡± character value of $t1

times.

( if $t1 value is 2, then print **: if $t1 value is 3, then print ***, so on)..

hint) data, text, global, system call,

##pseudo code########################

    Loop:                  ##########

if  $t1 == 0  return       ##########

    call print_star;       ##########

    $t1 = $t1 -1;          ##########

    j  Loop;               ##########

#####################################

## MIPS CODE ########################

   .data

star: .ascii "*"

  .text

  .globl __start          

__start: 

       addi $t1,$0,2  #t1 = 2       

LOOP:   

      beq $t1,$0,EXIT

      addi $t1,$t1,-1

      jal  PRINT_STAR

      nop

      j LOOP

      nop

EXIT:   addi $v0,$0,10

        syscall         

PRINT_STAR: addi $v0,$0,4

            la $a0,star

            syscall

            jr $ra

            nop

#Prob 4

Problem 4: Write MIPS program to count number of ones in register a0

and return the value in register $v0.

############### Pseudo code    ###################

cnt = 0;

for(i = 1 ;i < 33; i = i+1;)

{     

     if(a0[i] == 1) cnt = cnt +1;      

}      

##### #############################################

#### Mips code                             ########

.data

heading:  .asciiz " the number of 1 is "

.text

.globl __start

__start:

            addi $v0,$0,4

            la $a0,heading

            syscall

            addi $a0,$0,0xff

            jal POP_CNT

            nop

            addi $a0,$v0,0

            addi $v0,$0,1

            syscall

EXIT:       addi $v0,$0,10

            syscall         

POP_CNT :    

             add  $t2,$0,$a0 # Copy  a0 ,Don't want to  modify a0.

             add  $v0,$0,$0  # Initialize v0 

             addi $t0,$0,1   # i = 1

             addi $t1,$0,33  # Loop index 33

             j    TEST

             nop 

Body:       

             addi $t4,$0,1         # holding value 1 for comparison

             and  $t7,$t4,$t2      # Masking  $t2 with 0x00000001

             seq  $t7,$t7,$t4      # if last bit is 1 , set 1.

                                   # seq is psuedo code ...think

                                   # about real one

                                   #       

             nop

             add  $v0,$v0,$t7      # adding cnt = cnt +1

             srl  $t2,$t2,1 

             addi $t0,$t0,1        # i = i + 1   

##TEST

TEST:        slt  $t6,$t0,$t1      # i < 33               

             bne  $t6,$0, Body

             nop  

             jr   $ra

             nop

############

#Prob ..6

for(i = 1; i < b ; i = i + d ) x = x ^ ( x<< 1);

register usage: b $8 ; d $9 ; i $10 ; x $11

# register 8 to 15  : t0 to t7.

############ Mips code   #########################

## Initialization

         addi $10, $0, 1    # i = 1

         j TEST

         nop

LOOP:

## Body

        sla $12, $11, 1     # $12 = x << 1

        xor $11, $11, $12   # x = x ^ $12

## Increment

        add $10, $10, $9    # i = i + d

## Test

TEST:

        slt $15, $10, $8   # i < b

        bne $15, $0, LOOP

        nop

